Quietly read pages 165-175 and answer the following:

1. What are the four main factors that would cause a change in the size of a country’s population?

· # of people born
· # of people who die

· # of people immigrate

· # of people emigrate

2.  Define each of the following terms.  Include an example as part of each definition.

Emigration
 - migration of people out of a country/region







Brain drain
 - the out migration of a large portion of a country/regions most educated people
Immigration – migration of people into country/region
Pull factor – characteristic that attracts people
Push factor – characteristic that causes people to leave
Refugee – person forced from their homeland b/c of threats to their well-being
Rate of Natural Increase (RNI) – growth determined by subtracting death rate from birth rate
Replacement Level - # of children per woman required to keep a aconstant population in a country or 

   region
Total Fertility Rate (TFR) – average # of children born to a woman during her lifetime
3.  What are the factors affecting the mortality (death) rates of a population?
· Availability of medical services (# & spatial dispersion)

· Cost of services

· Education

· Availability of food & clean water

· Level of economic development

· War & environment disasters

· Country’s fertility rate

4.  Suppose a country had a population of 31 850 000 at the beginning of 2007.  During the year, the following changes occurred in the population:

· 1 038 000 babies were born

· 594 000 people died

· 86 000 people emigrated

· 53 000 people immigrated

· 93 000 babies died during the year

· 9 159 000 women were aged from 15 to 45

Immigration rate – number of people who permanently move to a country



        (# of immigrants ÷ population × 1000)

Emigration rate – number of people who permanently leave a country



      (# of emigrants  ÷ population × 1000)
Net migration rate – difference between the immigration rate and emigration rate



           (immigration rate – emigration rate × 1000)

Calculate the following values:

a) Population at the end of the year

· Starting population = 31 850 000

· Population added during the year: 1 038 000 babies born + 53 000 immigrants = 1 091 000

· Population subtracted during the year: 594 000 deaths (including 93 000 baby deaths) + 86 000

  
emigrants = 680 000

· The population at the end of the year: (31 850 000 + 1 091 000) – 680 000 = 32 261 000
b) Birth rate 
(1 038 000 / 31 850 000) x 1000 = 32.59 per 1000
c) Death rate
(594 000 / 31 850 000) x 1000 = 18.65 per 1000
d) Emigration rate

(86 000 / 31 850 000) x 1000 = 2.70 per 1000

e) Immigration rate

(53 000 / 31 850 000) x 1000 = 1.66 per 1000
f) Rate of Natural Increase

(1 038 000 – 594 000) / 31 850 000] x 1000 = 13.9 per 1000 (This figure is equivalent to 1.39 %.)
g) Net migration rate

(53 000 – 86 000) / 31 850 000] x 1000 = –1.04 per 1000
h) Infant mortality rate

(93 000 / 1 038 000) x 1000 = 89.6 per 1000
i) Total fertility Rate
1 038 000 / 9 159 999) x 30 = 3.4 children per woman
